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(1) Write the amount of money

I_,_ ‘ , : 'L_'_

= ﬂ" S\ S

100+50+20+10+1+1+1+1
184 Pounds
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7\ Write the amount of money

Hundreds | Tens Onés
4 6 7

400460 + 7 = LE 467

------------------------------------

E@r ..... oo g m LE e )% ..... IO o= LE e
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(S0 Choose the correct answer ) S TP
@ Seven hundred and six (in digits) =.......... (760 or 706 or 714
@ 3 hundreds + 5tens+2ones = ......... ( 3520r 253 or53;
@ 30+50=.... ( 350r 53 or g
@ 10tens=....... hundred (100 0r 10 or 1

@ The number ... comes rigth after 289 ( 300 or 290 or 2g;

- Complete the following )

—

@ The value of the digit 5 in the number 528 is ...
. The greatest number formed from the digits 5,3 and 8is..._
@ 220, 225,230,235, ... S Cy e

- Answer the following )

. Find the result:

@) 72 @ 36 @ 72 @ 62
+ 18 +28 -18 - 36

........................................................

125 , 364 , 208 , 346 , 215

@ Find the amount of money :

R e Sof e e




|
|

LE O (t(ET LEX
s = e =
eoa b w i Y
= 13\- G—A-h 1!-- l-.:: 1'-
A s e—— — — g : - : L
LE 100 =W LE®D = o
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LE20  LER  LEt LEY
LE 100 LE40 LE{ LE{
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—! There are several ways o express thisamount L

T Draw According to the amount of money :

(LE235=_ s

' )

(LE160= —




Draw the amount :( LE435

" LE 436 =4 hundreds + 3 tens + 6 ones

Lezaﬂ LEM0 |

‘LE

Wi s
LE10 lLLE1 |

S

There are several ways to express this amount

Draw According to the amount of money :

aj b) S

...... Hundreds | .- Tens |....Ones| Pounds .. Hundreds -Tens | - Ones _;m;:
........................... . ? 57 .|I|. i . T . ? 25?“-

. Hundreds | - Tens | .- Ones| Pounds || - Hundreds | ... Tens | - Ones| Poug |

.............. e = 371 s o 7@

...... Hundreds | ..... Tens |....Ones| Pounds || .. Hundreds | ... Tens | ... Ones| Pounds

.............. e 34 T o e = 204
_@ - Bl 2=
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(1) Draw according to the amount of mofey=

B 75 POUNGS= cooocecntccntresnns s ssssssns s

b) 96 Pounds=

[€)213 PouNdS = .-

@364 Pounds= ...

€)508 PoUNdS = o)

) 287 POUNAS = oo

E327 Pounds = .. s evstareses
e Se000d Part S _—_-—— . ; . m
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(2 Draw According to the amount &

aj bj
------ Hundreds | ...... Tens Ones :;OL:I'IdS Hundreds | ... Tens : :M: j’bmds
+ - -t —? 321 ........................... e =_747
C) d) i
------ Hundreii ] -Tens | .....Ones| Pounds - Hundreds | - Tens |----Ones| Pounds
- _4.- . -!- ............ — 230 .............. ? 883
g i
------ Hundreds | ----Tens |-.....Ones| Pounds
.............. M L { + -t = 654
@ R
...... Hur!jmd; ----_--TEI'IS .
. -|l.- I +
. Hundreds | --.... Tens |- Ones| Pounds |] .. Hundreds .Tens |- Ones| Pounds
.............. + o 400 = 350
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e TEns

- -‘} ............. ? 650

............

Pounds

83

............

213

Pounds

1

247

s oA = 170 + . o — = 703
(0 (1]

------

..............

- = 302 .............. . +- E 304




(4] Calculate the amount of mone then-dreag b
another way ( as in the example
Fiw-| "o l'-i o w-] - e,
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(BE) Choose the comrect answer)

® ss :" ”:" ”[ 1[ f [(’['-'J:f: 4{
@ The number 690 is more than the number 490 by ..........
(2 or 20 or200)

. 2ones + 6 hundreds + 3tens = ... (263 0r 632 or 236)
.4+0+2= .............. ( 8 or 42 or 402)
.706=6+ .............. ( 7 or 70 or 700)
. The number of edges of the cubeis.--( 6 or 8 or 12)
momplete the following )

@ Eight hundred and eighty eight =800 + 8 + ...........

@ The place value of the digits 6 in 567 is ............

@ The number that comes right before 567 s ...

. The greatest 3-number formed from the digits 3and 9 is .........
® 20tens=.......... hundreds = ...

-Answer the following |

.Arrange the following numbers in an ascending order.

564 , 465 , 654 , 456, 546

. Draw according to the amount of money :

.............. i F i 2 351 T T et~ 5 6




Use your banknotes to create each amount shown below.
Draw the combination of banknotes you used to purchase each item.

TM— = ® =1L

®
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LE 20
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@LE SOLE [[1LE |[1LE |[1LE

"Hundreds | Tens | Ones |

rlOLE SLE |[1LE||1LE |[1LE

|10LE T |1_LE 1LE
10 LE 1LE [[1LE

Hundreds | Tens | Ones [

@ ................................ |: ............... LE

[oote] MOLEL [1ie][7Le
50 LE ToLE] | 1LE [| 1LE

Hundreds | Tens |0nes|
@ ......... ' II: LE

10 LE POIEEN  ISULES] ISLE

10 LE 1LEH1LE|

Hundreds | Tens | Ones |

é ........... | ........... | ........... |= ............... LE

50 LE 10 LE 1.LE

Hundreds l Tens | Ones |

ﬂi ......... | ........... | ........... |= ............... LE




(@) You have 200 LE to spend at the store . Buy as many items as
you can Write each item you purchased and its price below:

Add your prices here to keep

Item Price track of your total

dsdalil wb bl aludus - Ubgas

b] You have 250 LE to spend at the store . Buy as many items as
you can Write each item you purchased and its price below:

Item Price Add your prices here to keep
track of your total
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(1) Use your banknotes to create each amount sho 3
Draw the combination of banknotes you use to purchase each nem
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Use your banknotes to create each amount s OW °° &) o 1=l
Draw the combination of banknotes you use to purchase each ite;
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Tons Onos

Hundmds

......................

| 10 LE | 10 LE 1LE_
=~ 10 LE] TLE

[otel™110LE] IfLE

e ———

“Hundreds | Tons | Ones |

100LE | “Toe] [T I

Hundreds | Tens | Ones |

E ...................... l B esasrianrani LE

| 10 LE TLE |[[1LE ||1LE

50 LE TLE ||TLE [|T1LE

Hundreds | Tens | Ones |

F ......... | | |_ ssviosignl] B

50 LE [|10LE [|S LE

Hundreds | Tens | Ones |

g ........... _| Grasereiase |.. | = v LE

E
St S0 LE 0. 10 LE [|1LE
50 LE 10 LE

Hundreds | Tens | Ones |

‘ ........... | | |_ eevessesnnens LE
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4 Add the money. Match each total to ¥ e

10 LE

1LE ]| TLE

10 LE

1LE [|1LE

Hundreds | Tens | Ones |

——.
-

| ........... | ........... | ................ LE

10 LE

SLE

1LE

TLES] [FL L

Hundreds | Tens | Ones |

e [ ER— LE
SO LE 10 LE 1LE
Hundredsl Tens |Ones|
@ ........... | ........... l ........... |= ............... LE
[10LE' e 1LE |[1LE
10 LE 1LE [|1LE
Hundreds | Tens 0nes|
I e e LE
100 e |[ 50 LE |[1LE |[1LE |[1LE
Hundredsl Tens |Onesl
= evsnsenes LE
1LE |[1LE




@ You have 500 LE to spend at the class store. Buy as mar\wqca@ -

Write each item you purchased and its price below. voee Lzl
SRLES 86LE 15LE 57 LE 127 LE
o =
“’HU | [ | | 5 || 5% |
Shirt Ball Pack of pencils| |  Plush toy Bicycle
101LE 41LE 3LE 335 LE 5LE
*ég__‘_ .l - r
E3ls innir e
Boardgame ||  Toy Glue Jacket Candy
e 28LE 292 LE 9LE 450 LE |-
| (][0 ][> [%
Snacks Book Backpack Scissors Shoes
Item Price :Add your prices here to kee?

track of your total
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6 Youhave 300 LE to spend at the class store. Buy

~ Write each item you purchased and its price below. =

shirt gack Of Penciyy eicycly
A | | &

Glue gnacks shoeg

Item

Price

Add your prices here to keep
track of your total

—{(28/



-Choose the correct answer) =
.T‘he value of 5 in the number 536 is ............ (50 or 5 or 500) o
@ 475 457 (>0 < or =)

@ e place value of 7 in 745 is ... ONeS or tens or hundreds )
@ The greatest 3-different digit number is .. 999 or 987 or 897)

@ Seven hundred and forty = - - (714 or 740 or 704)
[55] Complete the following )

8 30nes  5tens » 2 hundreds in digits as ...

. 853 = i BO + cooeeeenmienms

8 e greatest number formed from the digits 7 » 3 and 5 is ...
. 310 ] 320 ] 330 9 tersseceannenns 9 carnsnssesnasnn 9 sntatrncanaaans (in the same paﬁem)
8 The greatest number formed from 9 » 5 and 8 is «-..

(@8E) Answer the following )

. Find the result :

@ 16 @ 52 ® 82 @ 78
29

1
+64 +

@ Arrange in an ascending order. 211380 » 247 and 292
The mder is S e g e § sreeesssresssns 9 eeeccnsiniiin

[ Draw the combination of banknotes you use to purchase each item’

@ @

i

E35)

L —————




oy

() | STORY SROBLENE ( E’T‘“”““

The price o2 | |pound (LE) 4o == %ﬁ\
— 2o iaster (PT ) oiod total L‘\
Y plasrer v together X

:”Y . “; :“: - have au: remainder
Oug a a “‘l:’ »
left \.\

pay 842 | | How much hmabaptm| ——— ™
) : =
paid & |How many s4epsm| |difference &y
—

N

(Z)Solve the story problems. Write your answer

Ali had 42 LE and his brother had 57 LE. How much money doThey\
have all together?
—

----------------------------------------------------------------------------------------------------------------------

Salma was given 29 LE for buying somethings. She bought m
fruit for 14 LE. How many pounds does Salma have left?

------------------------------------------------------------------------------------------------------------------------
......

Aya saved 33 LE in one month, The next month she saved 24 LE,
How much money does Aya have In all?

------------------------------------------------------------------------------------------------------------------------------

Mostafa was given 99 LE for his birthday. He bought a new pair of
shoes for 86 LE. How many pounds does Mostafa have left?

Tarek bought a book for 44 LE and a new football for 44 LE.
How much money did Tarek pay ?
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. Y STORY PROBLEMS ( B jaszi

s
e
M oadl| i pound (LE ) s> sum t#aa‘ !
- total £ saxxa
mone 393 i - 3 .
Y piaster ( PT ) uad ogether L ’
o iy has - have — remainder (,it,ﬂ
bought A8 | | had danles
left ual._i’
pay 82| | How much nsatmpsa
P“id ah How many 3icpsa difference a;iﬂ

Solve the story problems. Write your answer

Ali had 42 LE and his brother had 57 LE. How much money do they
have all together?

------------------------------------------------------------------------------------------------------------------------------------

Salma was given 29 LE for buying somethings. She bought a basket of
fruit for 14 LE. How many pounds does Salma have left?

—&

....................................................................................................................................

Aya saved 33 LE in one month. The next month she saved 24 LE.

—{(0}

How much money does Aya have in all?

....................................................................................................................................

shoes for 86 LE. How many pounds does Mostafa have left?

%ﬂ Mostafa was given 99 LE for his birthday. He bought a new pair of

e| Tarek bought a book for 44 LE and a new football for 44 LE.
How much money did Tarek pay ?

L@/_ s 540/ 2 e
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(2] Creat a story problems ,It can be an addit
problen, use the words shown , Then solve I”, ** =~ Gioslzill

ay &

S actlpng

ﬁ Eman - Ahmed - had - LE 48 - LE 93 - HE)w fhuch - money - all togother

....................................................................................................................................

------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------
------------------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------------------

.
...............................................................................................................................
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i | HOMEWORK[<———

»,b) %:(’/:/: N &
. R
I Solve the story problems. Write your answer ua izl

E Alihad 42 LE and his brother had 57 LE. How much money do they
have ali together?

—_—

E Salma was given 29 LE for buying somethings. She bought a basket o
fruit for 14 LE. How many pounds does Salma have left?

.........................................................................................................................

@ Aya saved 33 LE in one month. The next month she saved 24 LE.
How much money does Aya have in all?

..................................................................................................................................

(d) Mostafawas given 99 LE for his birthday. He bought a new pair of
shoes for 86 LE. How many pounds does Mostafa have left?

@ Tarek bought a book for 44 LE and a new football for 44 LE.
How much money did Tarek pay ?

------------------------------------------------------------------------------------------------------------------------------------

Omar had 75 LE saved for a bike. The one that he wants costs
62 LE. After he buys the bike, how much money will he have left?

....................................................................................................................................

(@) Nadine saved 80 LE. She wanted to buy a pair of jeans.
The jeans cost 79 LE. How much money will she have left?

------------------------------------------------------------------------------------------------------------------------------------




(R’ Farah went to the market.She bought som@g wﬁ'\ A

® B OG s - o
65 LE, some chicken for 38 LE, and some milk for araLizull

53 LE. How much money did she spend in 2!l?

—

[B Eman’s grandmother gave her and her brother Kareem
money for their birthdays.She gave each child 45 LE.
How much money did Eman’s grandmother give in all?

................................................................................................................................

[:]]Tarek and his friend Karim both bought a new footballs.
Tarek’s football costs 18 LE and Karim’s football costs 42 LE,
How much money did both boys spend on their footballs?

------------------------------------------------------------------------------------------------------------------------------------

@ Creat a story problems ,It can be an addition or subtraction
problem, use the words shown , Then solve it .

Eman - Ahmed - had - LE 48 - LE 93 - How much - money - altogether

....................................................................................................................................

....................................................................................................................................

....................................................................................................................................

....................................................................................................................................

-----------------------------------------------------------------------------------------------------------------------------------

....................................................................................................................................




A the f
Nada - bought - a jacket - LE 46 - a shirt - LE ‘36==

------------------------------------
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(Bt Choose the comrect answer) s ee ¢ eegp [1[‘.}[3[‘[‘
@ The smallest 3-digit UMb i§ . (100 or 902 or 123)

B) 400 +50 + 8 = oo (540 or 458 or 754)

@ The number that comes after 399 is - (400 or 499 or 390)

@ Seven hundred and forty-one = - (417 or 741 or 147)
@10tens=...... hundred (1000r 10 or 1 )

- Complete the following

@ The value of the digit 5 in number 254 is ..............
@ The greatest 3-different digit number is ...

@ The number of vertices of the cube = -
. The greatest number formed from the digits 5,3 and 8 is..........
@ 520,525,530,535, ..y

-fmswer the following )

@ Complete using” <, = or >" :

(1)6 hundreds + 5 tens + 3 ones D 400 + 72

(29 hundreds D 90tens (324 +45 D 80 — 30

@ Salma was given 29 LE for buying somethings. She bought
a basket of fruit for 14 LE. How many pounds does Salma have left?

. Mostafa was given 99 LE for his birthday. He bought a new pair of

shoes for 86 LE. How many pounds does Mostafa have left?

e Se000d Part e @——
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1 Find the sum:

e - e aa ° 00 s ’».«.':4‘
0 the Hundmgs _1_'_e_n-.s- Ones [bJ The  |Hundreds [ Tens WMI
amount 1 n“_ m atriotnt 1 :ﬂr- Pre
LE 3185 | i Levevenrens L LE 147 | ..ol
LE154 | .| iieessees | GERGEI ......... | coieensins foirnnnnnns
The The ................................
sum ............... sum .....................
o
€ The Hundreds | Tens | Ones @ The Hundreds | Tens | Ones

amount 1 E': @_] amount x Bw- m

_|_E i)yl | R I N LE 628 |...... _
LE 127 | oo |, e | [TLE 297 | o
The | .| 171 The [T
sum | sum | |
|-'ﬁ

€l 1he Hundreds | Tens | Ones @ The Hundreds | Tens | Ones

amount _m_: E: @J amount m'. B: ﬂﬂ

EEEOS9M - - - | icvivinns v | [LE 405 | .o | _ ...........
LE288 | ... |, LE 195 | .. . N
The | ... ||| The [T
Sl S ovis Um | e [ Jreenne

...........

................................

—g—j The Hundreds | Tens | Ones @ The Hundreds | Tens | Ones

oneirt | AL | ™" 18 || o | SR i

LE 89 |.oo|ioi o, LE 29 ... |l
LE 75 | .ol o, LE 47 | ... |
The | o\l The |l
sum sum ................................
r Se000d Farl e T —— |‘37:
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Subtract : all L P dk
q The  |Hundreds | Tens | Ones [E The Hundreds | Tens O\ne;
o amm | r w | ‘e m
amount | T | IRTC || | emount | S | 8T | iy
.............................. ] -
LE 569 |- [ fooreenns LE 748 |-wee |-orieeee |
LE 127 | ..o | [, LE 329 |....ccooo [oommmennn [,
The | .l b | | The | eeeeeees Jemeeeeenne o
difference difference _
@ The Hundreds | Tens | Ones @ The Hundreds [ Tens Ones
amount m‘; T‘ fmj amount I T' m
LE 6§28 | oot |- fricusiinnae LE 508 | ovvoooe [cooiovions [,
LE 278 | oo | o, LE 253 | .o | o,
The || [ The [ .| [ e
difference difference
@ The Hundreds [ Tens | Ones ['B The Hundreds | Tens | Ones
amount I E"' m J amount x ﬁ"'" m
LE 428 |- [ommiens [ LE 654 | oo [ o,
LE 472 | oo | [ LE 378 |- oo [, |
The | ool o The |.......... | 1. 5
difference difference ]
The Hundreds | Tens | Ones @ The Hundreds ~Tens | Ones
amount | TG | B8 [ | | oot | A | BT | B
LE 700 [ --ee |oereevreees Jromennens LEBO2 |- | s o
LE 187 | ... |, LE357 | .| |
The | .o | The | .o | foreiien
difference difference _J
= Burk 2 —



| HOMEWORK |

—
) Find the sum :
@ the |fundeds) Tens | Ones | @The
amount 1 l&: i amount
_E_E__2_47 ............................. - | LE 458
5_125 -------------------------------- LE236 |..... || .
me | e | [
sum | g [
@The Hundreds | Tens Ones | (dJ Th Hundreds | Tens | Ones
amount 3. n: E\ amo:nt m'. B"" i
E524 ................................ LE 638 | ... | ...... —
LE 123 | i | LE 107 | |l
The | ol o || The |
sum | sum | e [ e
Q The  |Hundreds | Tens | Ones f) The  |Hundreds | Tens | Ones
amount x E: W% || | amount 1 n"' m‘
1.7 P P LE 724 | ... |. o
HMEROABN .......... | fisionnnnn. LE 172 | .o s |,
The | |l || The | T
sum | L S o Lo
The Hundreds | Tens | Ones @ The Hundreds | Tens | Ones
amount m "'" E"" m amount m; ﬁ“ e
T 0 I T=101.7) [ [
LE159 | ..o oo LE 279 | .o [ e
The |77 T The | |
sum | e | fee sum [
.............................. e \"'-_
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(2) Find the sum : ‘-L.kﬁ AE R

@ The Hundreds | Tens | Ones @The Hundref .TE:S O,
amount m'. n"_'-""‘ m\ amount 1 l{_" 0

LE 725 | o [ oo frreemeene LE 632 |- [

LE 273 | oo [ [ LE 457 | |-
me || e | |
sum ......... sum ..........................

I'ErThe Hundreds | Tens | Ones @The Hundreds | Tens On
amount x g m '| | amount m: :'_"_ &

LEB24 | ..o |comeeres [rrmeeees LE 247 |- |- [

LEAB2 | ... |.-oveevees forenssvane. LE 189 | ..o | [
the || The (T
sum sum

..................................................... l.......-

E The Hundreds | Tens | Ones [?:Ji-rhe Hundreds [ Tens Ones
amount 3_‘: *::4 j@___J amount E! _: E

LE 605 [ .o [rommmms [ LE 500 [ .cooooe [oorrmmimee oo

LE 187 | ..o [ [rroeeens LE 455 | ..o [ceviiimnin Joeeens
SV - [ [ | Rl S
S R StMm .................

&The Hundreds | Tens Ones @ The Hundreds | Tens Ones

amount I n""" m' amount m‘: n-'- a0

LE 785 | oo [ Jrommeeees LE 83 || [

LE 419 | ..o [ Jormmeenns LE 57 ||
The | The |7 |
sum || osum e ""'f.'.'ff'

GEI}
140; —— — e Stk 2 =



3 Subtract : T -V
Pu: The Hundreds | Tens | Ones [_b—‘J The Hundreds | Tens | Opes
amount 1 n"" Wi || | amount 3:. n"" i
EBSAM .- ... |iviiens fossissinae LEB3Z || <o [rerivenns [rrnancen,
TX v e e LE 324 | oo [ ||
diffgp:nce ................................ dlffgrheence ............................ _—
@ The Hundreds [ Tens | Ones d_l The Hundreds | Tens Ones |
amount x if" mJ‘ amount 1 " |3
C |LE4B6 | e oo LE724 | [ foore
1 ILE126 | s [ LE224 | ...l |,
] The || o, The ISUUUUURTR IUSOUPRIOR IOORRII
| | difference difference
& The Hundreds ( Tens | Ones @ The Hundreds | Tens | Ones
amount I il #I% || | amount m‘: B B
LEBSA4 | oo [ oo oo LE 638 |- [ e
LE123 | .........f e s LE481 |......| .|
diff.gp:nce ................................ diffgpeence ................................
9 The Hundreds [ Tens | Ones @ The Hundreds | Tens | Ones
amount 1 n"' m_J amount E i m g
Loy || E— E— 1= | [ R F—
LE175 || |, LE269 |......|.ccooi]
dlff-glr‘eence ................................ dlffgpeence ........................... o
T —
e Se000d Fart - 41
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| - ‘; > ) \
% Subtract: ST Tee =9l
a The  |Hundreds | Tens | Ones @ The Hundreds 'Tensﬁ“g#gm'[[
- || " ol B e |
amount 1 'B':_ m.] amount 1 n_ i
LE 5§55 | -over [ [ronmenens LE 617 |- | o
LE 183 | .o | [ LE 259 | ..ccoooons [cerreionm |- s
dlffereence diff-lla.ll'l:nce ——--.
gEJ The Hundreds | Tens | Ones @ The Hundreds | Tens _an—é:
amount 1 "R m amount l ni, = o
Loiaid;l | (R R SR LE 527 | .ccooee [eoeenin
LE150 | .| EE 27900 .......... | cossnnns [isenceen.
TRE T -........ |oeceeereene Fovineneann THE L | ..ciioeiie [eorerciencs foorsinnas
difference difference
The Hundreds | Tens Ones @The Hundreds | Tens | Ones
amount m'; T- '!m \ amount x ﬁ-- @
LE 429 | oo [rrmmmmme o LE 503 [ oo [rmmerene frrmnns
LE 137 | oo | oo fromeeneenns LE 159 ] .......... |oovenvins Lo,
diffeﬂl?eence ..................... diffglr"eence . TN
The |Hundreds Tens Oﬁas‘ [El The Hundreds | Tens Ones
amount 1 T'l Ej amount E’l el
LE 425 | -oor [rrormeemnns fensmieee LEBOO |- [
LE 198 || o LE 275 | oo [ o
T T UV [UUCUUUUUURY INCUUURUOU D () [ NN IOUURRROUEN ORISR PR
dfffereence diﬂg-'r‘eence ' _J
- Bok 2 =




. Nine hundred and fifteen =

@ 6 hundreds + 3 ones + 2 tens =
. The number that comes right after 569 is
@ The value of the digit 4 in the number 942 s

.LE20+LE20+LE10=LE

(915 0r 950 or 905)
(632 0r 623 or 236)
(579 or 568 or 570 )

( 4 or 40 or400)
(2210r 410 or 50 )

(§8588) Answer the following |

@ Find the amount of money :

URTTIRT g

'._-—-

li_'f..'_'_ ifIﬁ i

\ _E%&E ﬁtl .ﬁl- 3

T k- o Hundreds | . Tens |  Ones| pounds
-~ Pounds e e é: ............
@ Draw According to the amount of money :
O 2
...... Hundreds | --..-Tens | ....Ones| Pounds v Hundreds | ... Tens | ....Ones| Pounds
-~ I ——Y & | —— T
@ Add @ subtract
The Hundreds | Tens | Ones The Hundreds | Tens Onesl
amount a: n'_'"" mj amount x n“ ﬁnﬁ—u
LE 405 | ... [ | L i e e
LE195 ||| L 1 R R
O - |- | R —————
sum | e [ e LE 378 |........ |
..................... The
difference | _
BOF
— Ssoond Part \143-
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Odd Numbers
&
Even Numbers
l Numerical Patterns \
—{m, o — ...!5%“-‘




JOr
P s
9 | EVEN NUMBERS & ODD Nwms

~____FEven number Odd numbers —

@g TR09. 22

(
‘R.ﬁ u
Even number can make perfect partners | | Odd number cannot make perfect

BRI RN
, no one will be left out . partners , one will be left out .
So, 6 is an even number So, 7 is an odd number

A

d s

-

Any numberhas0,2,4,60r8 Any numberhas1,3,5,7or9
in the ones place is called in the ones place s called
an even number. an odd number.

[@) Circle the even numbers :
200, 15, 63, 20, 84,913,910, 212
214 , 187 , 520 , 113, 772 , 366 , 781 , 28

@ Circle the odd numbers :
48 , 51 , 127 , 366 , 541 , 147 , 258 , 362
270 , 21 , 547 , 36 , 121, 147 , 255 , 474

(3) Complete :

lal The even number that comes right after 24 is

ooooooooooo

The even number that comes rigth after 313 is ...........
€ The odd number that comes right before 91 is ...........
The odd number that comes right before 350 is

nnnnnnnnnnn

) The odd numbers between 25 and 32 are

---------------------------------------------------------




— A the

An sven An odd + Anevan im q{‘“‘ e 4 n;
number number WL = | number gLl ;[[[
An even 1 N An even

number

number

)
An odd
number

4 Complete : o
The sum of two odd numbers is an ............. number.
The sum of two even numbers is an ... number.
The sum of an odd number and an even number is

an .......... number.
[d) The sum of an odd number and 1 is an............number .
The sum of an evennumber and 2 is an............ number .

Double each number an then determine if the sum is
an even number or an odd number :

lNumber Double Een unbe Number Double chunnber
or Odd number or Odd number
2 2+2=4 | Even 6 | e o = | EVen
5 |[... FRRT RN [T 13 | «eronne RPN e
< J S g e I g =

(6] Find the sum . and then determine if the sum is
an even number an or odd nhumber :

Addition | The | Evennumber Addition The | Evennumber
operation | sum | or Odd number operation sum | or Odd number

95+7 |12 | Even 37 4+ 15 || v

8+6 || o . T T T I— -

‘; 5”‘2__,




i 1 A |
i) Circle the even numbers : ';-L.kh- y | r« 3 :

125, 278 , 568 , 249 , 52 , 76 , 621, 95
473, 111, 337 , 900 , 54 , 101, 645, 62
503, 210 , 374 , 222, 12 , 219, 320, 15
660, 277 » 126 , 357 , 103 , 38 , 20 , 999

Bircle  the odd numbers :
541, 257 , 336 , 774 , 89 , 98 , 56 , 65

102> 315 211 > 112 , 108 ,» 659 » 221, 100
45, 12 » 290, 244, 131 , 633 » 717 » 210
103, 275 600 » 444 ; 68 » 92 » 137 415

(3) complete :

@ The even number that comes right after :

(1) 3308 o (2) 528 oo (3) 59 S o
(4) 622 S . (5) 924 iS ..o (6) 155 i o

B The even number that comes right before :

(1) 12is ......... (2)30is ... (3)61is ...
(4) 345 s .............. (6)102is......... (6). 700 is

e Se00ud FPart M @-—"




A the e

& Complete: ol ‘.
(@ The odd number that comes righf after;  Caedail
(1) 23iS . (2) 5318 . (3)9910S ..

(4) 126 is ........ (5)421iS oo (6) 55018 ...

[B The odd number that comes right before :
(1) 14is ... (2) 67is ... (3)41is ...
(4) 534is ......... (5)100is ... (6) TT7iS o

(5, Complete :
The odd numbers between 52 and 62 are




3

quhlmglmumbian_UEn determine if ffie.s

an even number or an odd number :

‘\f Double :g;m \\@‘f‘* Double

R s 43| oo $ o e

g [ TR 25 | e F o =

""77 R SR — 44 T T

“'Br R S 18 | = 4 s i fuiiisciiin
:-9__ OO ST SUUOT RS 19 B S =

_1 ........ $on= 10 R T =

g5 |- F o = 51 | e PR FOTPT I
6 |- VUYL IO Fom—— 26 | -~ PR poo

4 | R = reene [rrreenrieenns 32 | e R TR -

an even number an or odd number :

Find the sum . and then determine if the sum is

Addition | The | Evennumber Addition | The | Evennumber

operation sum | or Odd number operation sum | or Odd number

4+3 23+ 5

8+6 ... C 7 U S ZR POV E—

7+7 Q+17 |

9+5 33+8

4+2 22 +18

12+ 14 77+2 |

17+8 3744 || oo

12+ 5 12 +81 |-

23 + 31 ; 43 + 36 ] e
~———Seoted Purt .




— At

: E ; ;« iy “‘9 ’O fy &
[ Y « a3 s 11‘ ‘ ™ ,'5‘5( .
(B8 Choose the comect answer) ozl

@ The even number comes right after 452is ... |
(1451 0r 453 or 45,

@ The sum of two odd numberisan ... . number .

( odd or evep )
@ 50nes + 7tens + 6 hundreds = ... ( 5760r 675 or 765
@ The smallest 3-digit numberis.... . (1000r 102 or 123)
| is an even number . ( 2530r 867 or 536
-Comple?e the following ) o
@25,43,267are........... numbers.

@ The greatest 3- different -digit numberis.

@ The place - value of the digit 8 in the number 258 is
. The odd number that comes right before 101 is
@ 208=8+..........

mnswer the following )

. From the following numbers :
425 , 47,102 , 318, 236 , 223 , 71,479 , 80
Theevennumbersare: ...

The odd numbers are : .

. Arrange in an ascending order : 880, 88 , 18 , 808 , 800
Theorder: ... 1

. Creat a story problems , Then solve it .
Salah - had - LE 500 - bought - a bicycle - LE 345 - the left money

...............
........................................................................................
-----------------------------------------------------------------------------------------------

..................
....................................................................................
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To complete the numerical pattern:
« Find the key by subtracting any two consecutive numbers

o Find out if the pattern is ascending ( +) or descending ( -)
= Complete the pattern

W MR RS g Rule
2 | 4 |6 |8 |10 |12 +2
g
6—4=2;k—@
Q_gmpletg_the number pattern :
YLyl _JyL N Rule
@ o 3 6 9
Iy _JyL Tyl YL Rule
Bl 10 | 15 | 20 | 25
Iyl Iyl Iyl LN Rule
€l 20 | 30 | 40 | 50
(LY YLV 39 Rule
@ 20| 17 | 14 | 11
[yl Iyl _JyL_IyL_J} Rule
© 30|25 | 20 | 15 .
S Seoord Fart
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"
‘4:
-

|dentify the rule , Complete the
Match the pattern to its rule ..

|

Pattern _Elfl_i
@75 ,66,57 , g -3
@30,40,50, ................. q +6
©12 ,18 , 24 , . o i -9
@66 ,70, 74, . @ +4
890 , 80 , 70 , .. s e -10
£27 ,24 , 21, ., q +10

RULE| 45 , -2
35, e b reesensens 8 s | —
35, .

Scanned with CamScanner
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2 i e > 1
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[



_— \«oneweﬁﬁl ~!om
e Mlmmm ;[.LB.
(! Y Y Y Rule
@012 |46 |
Y XY Y YL Rule
3 5 | 7
AL WL N R Rule
g 0 | 3 6 | 9
Y Y \, Rule
18 | 16 | 14
Ly YL _yL_ Ny Rule
© 20| 17 | 14 | 11
(LWL WL LN Rule
B o |5 | 10 | 15
(VL LWL NL R Rule
@ 30 | 25| 20 | 15

Scanned with CamScanner



2] Complete the number pattern : 'e,-[..ﬂ; AR N
o ezl
Tyl Iyl Iyl ¥ Rule
@ 10 | 20 | 30 | 40 ]
[ VLV VLR Rule
0 |20 | 40 | 60 |
D4 I " W )4 Rule
80 | 70 | 60 | 50 |
7 S 7 — g — 1 W Rule
d| 120 | 100| 80 | 60
[ YLyl Iyl Rule
15 (12 | 9 | 6
[—yL_JY YL—N Rule
4 8 12
YL IyL Ty Rule
16 | 12 8
YL YL YL Ty Rule
22 | 33 | 44

PDF|

e Bk 2 —
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3

@fw the rule , Complete the pa@{“ y

~ Match the pattern to its rule .

E: Pattern
£4,6, o
£24,22 0 20 s N
@,66,57, ................. S
75, 78 , 81 4. o
© 30, 40,50 ... o
@'70,60,50, ................. ,

s S99

Rule

F

m—

Match the pattern to its rule .

Pattern
@12,18,24, ................. ,
@36,30,24, ................. N
©66. 70 74 1. s
@s82.78 . 74 1 s
9,8 ,70,. .. ,
B27,24,21,.... e

0 |dentify the rule , Complete the pattern then

Scanned with CamScanner
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= . ' \
(5 Use the given rule to finish the n%&}t@!m '}
se  ° % ool

@ [RULE| +5 o

B RULE| +2 .3
20, TP ST '
20 ; s R = p e

(d [RULE| -10,+10

B [RULE| +11,-5

@ [RULE| 44 4

Scanned with CamScanner



/‘ Choose the correct answer)

[@ 20tens = e hundreds (2 or 20 or200)
.600 ONES = v tens (6 or 60 or600)
@5+0+3= (503 or 8 or 53 )
@ The number that comes after 399 is -...... (400 or 499 or 398)
@ Seven hundred and forty = - (714 or 740 or 704)

(5808) Complete the following )

@ The greatest 3-different digit number is -.........
@ The place value of the digit 6 in the number 620 i ...

@ 25+ = B85+ 25
@ 23533543 5o 5 | TUIB (in the same pattern)

@ 30nes ;5 tens > 2 hundreds in digits @s - oo

.Answer the following )

@ Use the given rule to finish the number pattern.

RULE +5 -2

RULE +11,-5

B Put(<r>>ora):
(1) 806 860 (2)325 300 + 25

@ 5 hundreds 20 tens @ 90+ 2 90-2

@ Arrange in an ascending order : 523 » 203 and 620

—

The orderis : ... e and .gm ..>canned with
h-__MP”t '*ﬁrnrlrh%ﬁil—:

[ S —
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THE ARRAYS -

s

<— num(e)

= guin|e])

T

“"‘**lliii
s AL LK

== UM |07)
< vume)

—
5+5 =10 |
~2+242+2+2=1)

—

Thisis 2 by 5 arrar

" This i by 2 array |
isis 5 by 2 fray

Complete the following according to The array :

..-r.-'..-!.-t.-d

T ROWS 2 coveeiiiiiin e =
:lCo]urnns: ........ P 5 = ...,

This is ..-......

Thisis .........

E’Rows S e bhena e eaegeshes b e arae i e enns

B(}(}]u:mns: .......................... = einens
This is ......... by .. array
This is ......... by ..... __ array

o ROWE'S comssnvevianvdnda seits oy o stallS svaiast

This is .........

This is .........

POF}
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x,

[’“ Complete the following according to Theﬂ

ERERBR)E
FRBIIQ

B ¢

55
~
(o

'\‘ \‘ '\‘ .' Y
(3

B

20 _-J
/‘*/ f‘\l

LB AR AR
;’*r'l./'*f

‘a‘) o
\]

(o
( .-ﬁt
S
l\a l\a‘

™
%

TROWS 2 e o=
ColumnS: -..o-cooveeeeeeeinns =,
This is ......... by ......... array
or Thisis ......... by .- array
ROWS & oo = e
(070) 1011011 < T IPTUT PO  —
This is ......... by array
or Thisis ......... by .. array

—6)

L JROWS 2 e

This is

......... by array
or Thisis ....... by ....... array
ROWS ¢ oo, =.......
Columns: ....ocooveeeeeeannnnnn. = ...,
This is ......... by ..... array
or This is . by ... array

Scanned with CamScanner



This is --«----- by ......... array

or This is ...c.ooe by ......... array

ERows iemoneseneesa s ok §dESTSES Fin maee

ja)]un]ns e meemasasassssaireresas= saaaans
This is -------- by ......... array

Scanned with CamScanner
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‘Choose the cormrect answer ) s ,
@ The value of the digit (5)in 458is ...~ ( 5 or 50 or 500)

@ Four hundred and twenty = - (420 or 240 or 402 )

@ 5hundreds » 3 ones = - (350 or 503 or 530 )
.The smallest number formed from 3,9 and 1is .-

(391 or 931 or 139 )
.The sum of two even numberisan. . number .

( odd or even )

(@38 Complete the following )

@ The greatest 3-different digit number is ...
{8 The place value of the digit (8)in 382 i§ ...

©310,:320 5 LI —_— (in the same pattern)

[ 509 (in WORAS) = vttt
@ .. ones +..__hundreds = 708

-Answer the following )

@ Find the amount of money :

R

(2

..............

Rows : ..., = ...
t“‘ Columns: ..« vvovveieeean = ..
This is ......... by ... array
““ or Thisis ......... hv sy @LTAY, o
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Estimation
| &
' Rounding

Adding and
| Subtracting
| with regrouping

@5
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N

/ *v‘(x“‘
/;ﬁj THE ESTIMATION il=: @ = .
"The Estimation
et
To estimate a two-digit number: 24 => 20
- Replace the ones digit with zero.
- Keep the tens number the same. 47 => 40

p—

To estimate a three-digit number:
~Replace the ones digit and the tens 142 =>100

digit and place a 0 in their place. 589=> 500
— Keep the hundreds number the same.

Estimate :-

d 9z >
B)127 609 [—>

O
"
q

378

(2] Use (front-end estimation ) to rewrite the problems.
Then estimate the result of sum or difference.

@dﬁ45+32 —[ 40 |+[ 30 |=[70

@ 53+15 |[—> - =
86-25 |=—> - =
B 57+22 |— + =
@ 93-41 |=—> -

e Seoond Purt - e @-—'
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1 Estimate :-

gor |-

g >

@37 =

69 =

g b

Use (front-end estimation ) to rewrite the problems,

Then estimate the result of sum or difference.

NN NN

E

+

~ B 2 —

Scanned with CamScanner



/ xw‘ \ L ]
7 Find the result and then estimate as in tha ex B i b

F"_

) - o qu‘[u e ZL [
@gﬁrzr—i 20 Qﬁ 861 80
+37->+30 =34 4= _30
61 ] [50 52 | | 50
@ 3813 | B 45 5
+35—-*+ ......... _23 L
B 48> - @734 ...
+27 =t + -15 4= =
B 60 M 83
+18 -+ -17-—7—
5311 .. W 52
+ 37 ==t 4 oo 47 = = ...
PDF
e Seotnd Purt —— -
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® ss o oo E:[,ﬁ ’[Ti' "i[;-l<['
mhoose the correct answer)
@ The greatest number formed from the digits 3 »5and 8 s ...

(538 or 853 or g
. 7 hundreds » 2 tens » 3 ones =-..... (723 or 327 or N |
@ The place value of 4 in 548 s ...... (unitsor tens or h““dfeds
.884= ............... +60+4 (8 or 80 or 80y
®4+0+2=..... ( 6 or 42 or 40y,

—
‘:ompleie the following )

. The number that comes right before 567 is
. The number of vertices of the cube = -

. 27 +65 =i + 27
. 85 - .. = 35
@ 200,300,400 . | UL (i hes8ine oo

-Answer the following ) o
@ Ahmed bought a book for LE 35 and a pen for LE 22
How much money did he pay ?
Ahmed paid = e B eernicasrninns 2 errerannenben LE

@ Put (<s>o0r=):

(D784 | 784 (D475 ]40+700+5
@264[:3 200+ 3 @7 hundreds s 4 tensDnu

@ Estimate :
@ 357 = e @ 58 = -

—(66/ e fute—
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N 71 7

71 — 70
72 — 70
73 —> 70

74 —> 70

B 74 75 76

78 79 80

75 — 80
76 — 80
<
78 —> 80
79 — 80

—

(L Use the blank number line to help you round each
€ach
number to the nearest ten

!;;zD'

Number | Theresultsto Number Them
the nearest 10 the nearest 1 |
41 46 *“"““‘j
42 47 e
43 48 T
44 49
45 50
Round to the nearest 10 : o
62 —| |
738 —
i) 55 —>
@18 —
297 »|
T e s SO
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iT the blank number line to help you roundm;% 2]
the nearest ten sTee ¢ S Ganuai)

T [

Number The results to Number ! The [em
the nearest 10 | the nearﬂj

31 36 | _J

32 37 ‘1

33 38 | |

34 39 ]

35 40 *‘

— ==
@ Use the blank number line to help vou round each
number to the nearest ten

] o .

The results to The results to
NOmBer the nearest 10 NUmber the nearetsst 10
61 66
62 67
63 68
64 69
65 70

@ Use the blank number line to help you round each
number to the nearest ten

The results to The results to
Nurmer the nearest 10 umber the nearest 10
91 96
92 97
93 98
94 99
95 100@3 wit]
~ ol Purt ——69\—
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@ Round to the nearest 10 :

a 45 —

bl 15 —

c 88 —

d 71 —>

el 20 —

B 512 >

£ 295 >

(6) Complete the following table

The number | Estimation | Rounding to the neaream

78 |
72 |
108

103 N

—{707 B CRNN il lll WP
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ﬁ:hoose the correct answer )
@ The number just after the number 573 is - (400 or 574 or 600 )
@425=5+20 + ( 200 or 300 or 400 )
(8 The place value of 6 in 613 is ... (hundreds or tens or ones)

. The greatest number formed from 3 digits is ..-.ooeeeve
( 635 0r 700 or 999)

@ 456tothe nearest10= . (450 or 460 or 400)

(8888 Complete the following )
. 3 tens s 4ones » 7 hundreds is written in digits as ----...c........

@ 1005200 300 5 oo 3 o (in the Same pattern)

@ The greatest number formed from the digits 4 » 1 and 9 is .............
@ 612 = tens s ONES s~ hundreds

. 500 rounding to the nearest 10 = owmeeseeieene

-Answer the following )

@ Round each of the following to nearest 10 :
DTN - S T18 o

 eveeiiripesssiidl B 623 : iiniiininin

B Mina bought a group of toys for L.E. 200 and a mobile for L.E.
300 How much money did Mina pay ?

Mina pa|d S seceesisivivey, o iisbesiesrsanen =LE. oo

@ Arrange In an ascending order : 419 » 149 914 and 941

The Ordel' is t iressriaenees 9 sessnsienninees 3 snesieisiie and ...............

Seoond Part s @—_
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e il ST

-.u.hu,,#*z.“
ROUNDING YU THt™ S ATy anylall

q f ared Vi Tdad i ef Eher Fuseriet-deste "("‘ Rl s v

‘ Tugartbgne @ Thaa Gaarsd Gosar apsepd oligets boe 0

o coopeth e TR Abeen dp®

. "

P the weeen g

4 r :. }.i*‘

ok veca !

(L]

e * 2 w3

the humdsda digt OO DS

peamy Thie paeevnd Ao Seatmadi saiig hisgd

2d 7 87

200 800

. A
R B # 501 -

Scanned with

*“_WANNH '
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s .
g Use the blank number line to help you rolifdehch - .~ -
number to the nearest 100 o
"iaﬂoﬁ" B L] oo
(o The results to The resultsto |
Number the nearest 100 NS the nearest 100
i 302 360
325 377
338 385
347 392
349 309
Round to the nearest 100 :
a 123 —> 220 =
bl 197 > 773 —>
€ 222—> (h) 297 —
d 833— 9 —>
2| 738 —> 38 —>
@_Complete the following table
The . Rounding to Rounding to
number Estimation the neareast 10 | the neareast 100
235 200 240 200
@ 357
B 298
€ 564
w”'.j
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—

number to the nearest ten

L L | | | | | _
20 L L LD I T T oo
Number Theresufisto 'Number | Theresultsto
the nearest 100 | j | the nearest 100
215 | 228 | ]
231 | 246 | .
257 | . 261 | .
273 | 284 | ]
234 | 250 |

=
(2 Use the blank number line to help you round each

number to the nearest ten

oo | I 500

Number Theresultsto Number | The res”'“_t‘;—i

the nearest 100 the nearest 100 |

417 | 436 N

423 | 449 N

| 459 | 462 ]
473 489
460 499

s

1 Use the blank number line to help you'rolind each Gatizill

@ Use the blank number line to help you round each
number to the nearest ten

— 1 +
700]] || || || || || || 800

The results to The results to
Number the nearest 100 Number the nearest 100
703 781 |
719 752 |
728 761
730 777
749 782

Scanned with CamScanner



ﬁ)und to the nearest 100 :

Complete the following table

The | Estimation
number

Rounding to
the neareast 10

Rounding to
the neareast 100

Scanned with CamScanner
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(1) Choose the correct answer)

. 8 hundreds » 5 ones = e (805 or 603 or 63]
@ The smallest number formed from 7 » 5'and 8 is -
| (785 or 578 or g5

® The place value of 7 in 745 is -......... (Ones or tensor hundreu”
@ 583tothe nearest100= (600 or 580 or sy,
@ thenumber 537 comes rigth after ...... (536 or 538 or 54
(886688 Complete the following ) S

@ The greatest 3-digit number is ...
B 123 +326 =326+

@ 4 ones 8 tens » 3 hundreds is written in digits @s -.evveveoe.
@ The value of the digit 6 in 654 is -

@ The smallest 3-digit number that can be fromed from the digits
7and 3is ..cccoonns

-Answer the following \
@ Find the following :

@ 46 + 3T = v 5
1

@68-54 = T

@ Round each of the following to nearest 100 :

1] T —— IR 1 T ——
@436 e I & [ J S ——
R — GE YR I rm—

@ Arrange in an ascending order :
419 » 149 » 914 and 941

The order s : e PR— 3 rerenraeninns and oo
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Add : 234 + 353 = 587

Hodedi | Tens |Ones Hundreds | T

s |Ones

Tens |Ones

en
JINMEBNLL
LUK

29
2
bk ]
®

w FFw

|
5

5

il
8

7

| Hendedi | Tens | Ones|

4

10 Ones =1 Tens
10 Tens =1 Hundreds

A

267+366=633

[ Herdeds [ Tens [Ones]

2
29
L4}
29

m-———- m—-—

13

\____,/

il

W eee

3

S Seo00d Purt
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(1 Draw hundreds squares , ten stic
to represent each addend,

use regrouping stratege to find the sum

@355 + 272 = 628

Hundredi | T s |Ones Hundredi| Tens | Ones Hundred; Teﬂ,r&\
i u B[ mm |
el | O i - i

= }I T D H[] sk .D l' "= .D U ::
ﬂﬂ [ 00 oe [ N

3[5]6| (2 ]|7]2 5 (12| 8 6 [2[p

.

@ 258+126=

MHundreds| Tens |Ones|  [Hondred Tens |Ones|  [Hundreds| Tens [Ones|  [Hundreds| Tens| E,:
‘\

bl 372+464= ...
Hundreds| Tens | Ones|  |Hundreds| Tens | Ones Hundreds| Tens | Ones Hundreds | Tens Ony

€| 427 +196= ..
Hundreds| Tens |Ones|  |Hundredi| Tens |Ones Hundreds| Tens | Ones Hundreds | Tens |Ones

B

—

@ = _' Bek2 —
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el =y
7 Find the result . %LQ; g atm
L--l- - £TY %%

Bz —

@
246+139=385 456 126

0
694+162=856 | 5g4 | 423

...........................................................................

----------------------------------------------------------------------------------
.

é236+1 24= 463+123= ................
€109+573= ................ D 647+219=
#266+124+369=" ....................... J o

PDF e - nnec

Sl (79—
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to represent each addend.

| HOMEWORK
@ Draw hundre ds squares , ten sticks and o

K
)‘
>

t@g‘f“'ﬂ

use regrouping stratege to find the sum
@ 123+365= ...

Hundreds| Tens |Ones|  |Hundreds| Tens [Ones Hundreds | Tens [ Ones
+ —]
281+ 516 = ......
Hundreds| Tens |Ones|  [Hundreds| Tens [Ones Hundreds| Tens | Ones]
+ =
357 + 218 = ........ i
Hundreds| Tens |Ones|  [Hundreds| Tens [Ones Hundreds| Tens [Ones|  [Hundreds| Tem One.
+ = =
l ) 375+109 =
Humtreds Tens |Ones| |Hundreds| Tens gne: Hundreds | Tens | Ones Hundreds| Tens [ On
+ = =
m

D,

— -
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ﬁ]s 6+128 = ... -

“eds| Tens Ones| |Hundredi| Tens | Ones Hundred: | Tens |Ones m erii“ 1;; " &
1 S| 7] asasain

2

§371+263= ...

Rendreds| Tens [Ones|  |Hundreds| Tens | Ones Hundredi| Tens [Ones|  |Hundreds| Tens | Ones

+
|
n

"

—

@ 527 + 273 = ...

ﬁ_unﬁredi Tens | Ones Hundreds | Tens | Ones Hundreds | Tens | Ones Hundred:s Tens |Ones

+
i
I

Hundreds | Tens |Ones Hundreds | Tens | Ones Hundreds | Tens | Ones Hundreds| Tens |Ones

Hundreds | Tens | Ones Hundreds| Tens | Ones Hundreds | Tens | Ones Hundreds | Tens |Ones

‘181\: '

S——Seoord Fart
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r

9 Add ’

@256 + 29 =..... @366+ 69-=
@222+ 99 = .. @) 456 + 87 =......
@654+ 28-=-.. @336+ 78-=
@487 + 187 = ... @) 666 +254 =.......
®392 +315 = ) 468 +216 =......
6457 + 165 - @397 +129 =
@265 +173 = ... 378+291 =,
@666 +234 = @899+ 1 =
©374+144 = .. @) 369 +455 =
@ 123 +459+227 =

@ 208+326+176 =

@) 356 +232+112=cn

® 699 +101+100 =
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(B0 Choose the comect answer) T Gumgladl
@ Nine hundred thirteen (in digits ) ......... ( 930 or 903 or o,
. The value of the digit (3) in the number 638 is
(3 or 30 or Wy
@ The greatest 3-digit numberis ........... (999 or 987or 9
@e0+5+700= ... ( 6570r 567 °’765]
@)LE 20[+|LE 20}/LE 1}{{LE 1]4+]LE 1]+[LE 1]+]LE 1 =LE... |
(2250r 50 or )

(88568 Complete the following B

@ The smallest number formed from the digits 8 2 and 6 s -...
@ The number lying between 589 and 591 is -

[ — is 100 less than 342
. 70 tens = s RUNATEAS = oovveererersssssnns
@ The number .......... comes right after 369
T~
(@hifE) Answer the following |
@ Add:
(D) 658+24 8= o ® 5409 @ 694
+3 87 + 178
(2) 355+ 395 = e

@ () cCirclethe odd number 375,186 »852 »472 856 »7%

() Circle the even number 537618 > 528724 ,568 778

—

@ Ataschool s there are 317 boys and 281 girls.
Find the number of the pupils in the school.
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("3 | SUBTRACTING TWO NUMBERS WITH

LESSON E;'E’E;wl—-

_5ubtract
568 - 234 = 334 628 - 375 =253
:m Tens Ones Hundreds Tens Ones
atalb RN I NI
XX X X
=il ] = ]
] Rl 3 [ | IEAS 1
742-428 = 314 802 - 276 =526
Hundreds Tens Ones Hundreds Tens Ones
B B e Mo ~
e LR T
R h
Bk Rugt: = T & &
w hundreds squares . ten sticks and ones dots

to represent each addend
use regrouping stratege to subtract

[@ 658 - 253 = b) 579-126=
Hurdreds Tens Ones Hundreds Tens Ones
\_M P‘,; —
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738172 2 oo @672 xgﬁh

Hundreds Tens Ones h““"'&"'d‘ an, |
634 - 187 = v
Hundreds Tens Ones Hundreds Tens o
— — __—-\\

Find the result :

—~ « _ ~ 2 d ____‘__\
a 456 @218 @778 [j 497

_321 = 5 —281 ;-i_a-
! oves sses ssse o JI J L

705 | B 100 |@ 200|® 704
- 78 | |- 1||-159||-378

............ NS )
é4a 7-187 = wee. aiz 83-157= -

éeoo-254=......... too 270 ‘j,)
—{88/ o i
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@ 326 - 253 = @ 708 -362 = e

~ Hundret Tens

__,_;w Ones Hundreds Tens Ones
£ 940 - 327 = - B 872-569 = ...

" Hundreds Tens Ones Hundreds Tens Ones
@328-179 = ... (h) 700-327= ...

| Hundreds Tens Ones Hundreds Tens Ones

N Sst0d Purt e - - . @__
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— l & S //4
-

2 Subtract :

ET
n
.
(3 )
o

£ O

6
-100 -45

NN N
g W

]

497 1

519 778 652
-167 - 281 -218

llllllllllllll

JIE]
TIE:]
k=]
k=T

764 735 846 254
-229 -274 -238 -149

lllllllllllll

T
|
1

753 456 789 946
-288| [-149 -299| |-452

— |/

LR TTRTH T !
J PDF = -/ ~ _’_,_J
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1 -119 - 11
o
V'____,__J —

----------------

||||||||||||||||

—

@Subtract:
@322— 201

@374-125=_..

@4 87-295=....

@4 62—-228=...

©265-194=...

©822-555=...

@374-189 =.....

@®487-299=.......

@) 600-422=...

416-139=...
@ 903-155=....

7001112

PDE

—— .-_ .. ) \'78.9-“[ r

e Seo0nd Fart
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(B8 Choose the correct answer ) o7 dmadadl]
.The place-value of the digit 5in 975 is ...( ON€S ortens or h““dfedg,
. The smallest 3- digit number is ...... (100 or 123 or gg,::
@ 2 ones + 5 hundreds + 6tens = ......... ( 652 or 562 or p,
@589=...+80+9 (5 or 50 or 5
@ Seven hundred and forty = = (714 or 740 or T
Eommete the following ) -
. The smallest number formed from7,0and 4 is ..........
. The value of the digit 4 in245 is.........
. 5 hundreds = ....... tens
@ o5+ ... = 572 +915
. 3 0Nes » 5 tens » 2 hundreds in digits @s «.....cc o,
(i) Answer the following ) 0

@ Find the result :

@ 878 (2 975 @172+ 64= ...

+ 22 -436

,,,,,,,,, (4 300 — 79= ...
@ Complete using the suitable sign (( <, = or >)):

@ 370+40 ]500-200 (D283 315
@520D2hundreds+5tens @116[__—]11+6

@ Maha had 245 pounds. Her father gave her 314 pounds.
How much money with Maha ?

What Maha has = S R = - - - pounds.
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(3 | RELATION BETWEEN ADDITION AND Qﬁigﬁﬁbﬁ; LR

=56 L
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USING THE NUMBER LINE TO ADD 7

A the

-"-

6Steps
zllllllr

)

Usg the number line below to add :
26 +6=32

1

'l

ANNBAUBRN BB N3NNI A3

' EEEY

-
J

1

Ll 1]
12345678901 R21BUBIHITREY

) T N T T T I

4

@94-8:

Ll

012345678 9101121314151 171818

% (N N T T T O T TN T N N O S A |

~

11+7

EB7+3

1 |
01 2345578 30NRBUBEIBEY

% N N TN T T N N T T A I

~

[2)Use the number line below to subtract :

01 2345678 90N[ZBWISEANEEY

5 Steps
,llllllllllll(

17+5=12

| I N N T N N U N S I [N

u’

ANDBUBBHDBHNNNBHABEIAY

(jrz

n
D
I
w
™
)

-l
7,

AN BUB BT BHNINBUBRINIA

PV T TN TR T NN TN O N T N T TN U S [ B |

[T TN N T T N T T T O I T

€
012345678 90M2NBUBHKNEYDY

@18-6=

92/

o Bk 2 —
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P HOMEWORK ﬁ fﬂlm

L i
1A ] LI
B & Pt o
%‘ - 4 Ml &

¢ complete the Fact-Family House e
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ne below to add

Use the number |

¢

%5 %%

I N I I Y N

01 234567 830NN UBETRIEH

&l
)

l8+7=mmw

01 2345678 90NNBUSETBIGR

<Jllllllll|lllllllllll\

'12+5=mwm

vd

I N Y T N T Y I O

01 234567 830NMNBUBHENTBYY

&l
~

‘§6+7

I T N N . N

| 1
DANRBUBBDBENIRNIUEXTBNYG

I N I I N

€

@24+6

Y N N (O A A Y Y Y O O O OO O JRRD (O 1

N

w’

)

NDANDBUBXNB80INDHBHITBY

w’

| N N N [ N T N N N N S N

DN RDBAUBRVBBNNLAHBTHITRY

™

P I

w

§30+5

wf

| T A I N O

et L.t 11 1.1

pa|
T

@ 43+6

Q041 2 43 4445 45 47 48 49 50 51 52 53 54 55 % 57 58 89

_
—
s asans

I T . N

Lt 1 1 1 1 1111

40 A1 42 43 44 45 46 47 48 49 50 51 52 53 S4 55 %6 57 58 %9 60

|

T

B44+8

L 111 1.

I T Y T T |

4 41 42 43 445 45 47 4B 49 50 51 52 53 5455 %6 57 58 59 60

el 1 1 1

)

@51+3=...

NN T N T O O O N TS

DUQBUBEOBEDS QDK ST S50

L1 1 |

Y
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'3 Use the number line below to sub

g

Atke

%5 %%

0123456?3910111213!415151?1;,3Z

2]
<

@ 10-3= ...

|

gy

2 N |

-

B 18-4

0123 4567 8 9101121314151

L1 ||

01234567 893101M1R21BUIBIK

<lllllllllllllll

@ 15-7

Bge

L1 1 1

pal 1
NANLBUBBDBNNINRNDABBY

@d 33-8

l‘;g?

|
NANDBABRTBBNNNBHABBTY

L1 1

&
<

36-5= ...

1
292122232425252?2829303132333435363?3!?!?

rd
)

|
Y
%

1
A1 42 43 44 45 46 47 48 49 S0 51 52 53 M4 S5 %6 7 R 9

T

{Illl
0

g 51-7

| I T T T I

|

Ll 1 1

-

0 A1 42 A3 M 45 46 47 4B 49 SO 51 5253 M4 S5 S TR HE

1 1 1 1 1

[

)

Q41 4344546 47 48 49 50 51 52 53 S4 55 %6 579 %

Y

Trean

)
EFEEEL

&l
)

@ 60-5= ...
6

PDF

WHQBUEED QYRS RS
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Choose the correct answer) see

. The value of the digit 5 in the number 563 is -....... .
(5 or 50 or 500)

. 30 teNs = v ( 3 or 30 or 300)
.41+19 ............... 40 + 20 (< or =or >)
. The greatest 3-different digit number = - ~( 100 or 999 or 987)
.900+70+4= ............... (974 or 947 or 749)

-Complete the following )

(@ 4 hundreds > 3 tens and 8 ONES = -
[ The smallest 3-digit number is ...........
. 090,980 5 oo 9 csisnsmsvesisen (in the same pattem)

. ............... =1+10+ 100
. 254 to the nearest 10 = -

({ifdl Answer the following )

. Find the result :

.....
-----------------------------

@ Arrange in an ascending order :
563 » 790 » 687 and 234

The orderis : ... 3 ccvecencees 3 ceeveereeene @NCA wevevrernene.

@ There are 553 boys in a school and 335 girls. Find the total
number of pupils in that school ?

The total number of pupils = e # i T s puPIlS.

PDE|
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. the L

"7/ | EXERCISES ON ADDITION AND SUBTRACTIg ="
_— U

(1 Use an estimate of the front-end and rounding strateg,
Then show which of them is closer to the result.

The operation Front -end estimation Roundin?
T

48+33=81 |40+30=70 [] 50+30=80@
R T I — (] ﬁi“

37 442 = i | e El .............................. D
SHIL Y A IR p— Nl

38 + 27 = - S -E‘
@ Find the result then round : -

75+ 28 = .. to the nearest ten = --.......
257 =78 = . to the nearest ten = veoee....

125 + 347 = v to the nearest hundred = -........
722 - 157 = to the nearest hundred = ..

e ——

Ali has 42 LE and his brother has 57 LE.
How much money do they have all together?

------------------------------------------------------------------------------------------------------------------------

Samir made 48 cookies. He gave 22 to his sister Dalia,
How many cookies are left?

............................................................................................................................

@ Farah went to the market.She bought some beef for
65 LE, some chicken for 38 LE, and some milk for
53 LE. How much money did she spend in all?

ﬂ/ k _ I-Bnl:z-f
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1
o | HOMEWORK | ——Bosg

1 r E o .~
[jj. Use an estimate of the front-end and rounﬁ%ﬁ{égy;_g iy

e Se00d Part

Then show which of them is closer to the result.

—""-—-_

The operation

Front -end
estimation

Rounding

to nearest 10

|

48 + 33 = 81

40 +30=70

50 + 30 =80

v

36 -24 =

................................

--------------------------------

..............................

--------------------------------

..............................

--------------------------------

..............................

--------------------------------

------------------------------

--------------------------------

--------------------------------

------------------------------

................................

..............................

587 —125=---reoen

------------------------------

42 + 45 = .o

-----------------------------

..............................

Scanned with CamScanner
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e l idf - ‘*/1‘ &)
. = —
2| Find the result then round : w e

o~

35+38=e  tothenearestten = .. “
@ 125 + 358 = v to the nearest ten = ..
82 =15 = o to the nearestten = ...
300 =24 = e to the nearestten = ...
56 + T8 = ccovverererrns to the nearest hundred = ...

247 + 374 = ------to the nearest hundred =
200-78 = - to the nearest hundred = ....._
(A 641-175=....... to the nearest hundred = -...._

Answer the following : S

Ali had 42 LE and his brother had 57 LE.
How much money do they have all together?

"""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""""

(B) Ayasaved 33 LE in one month. The next month she saved 24 ¢
How much money does Aya have in all?

(€ Tarek bought a book for 44 LE and a new football for 44LE.
How much did Tarek owe altogether?

.............................................................................................................................

Tarek and his friend Karim both bought new footballs.
Tareks' football costs 189 LE and Karims' football costs 425 LE
How much money did both boys spend on their footballs?

et
- .."_"“"“.".".,........."...................--...---n-"""""
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@ Inthe class there are 35 girls and 13 boys,_5 &

1
® ss

. @
L1

How many more girls are there than boys?

sassssassssbERnnnE e - asssssssnsasssnn wee
L T T L LRIy wrssas
LA L L T e,
Teeaa,

(f Jana collected stamps. She had 180 stamps. She gave 20
stamps to her brother How many stamps does she have left?

------------------------------------------------------------------------------------------------------------------------------

@ Maha and Safa had 28 gifts to wrap. They have wrapped 4,
How many more do they need to wrap?

..............................................................................................................................

There were 65 people on the bus. At the first stop,
21 people got off. How many people were left on the bus?

------------------------------------------------------------------------------------------------------------------------------

i) Jasmine has 25 candies. Walid has 14 candies.

How many more candies does Jasmine have?

..............................................................................................................................

@ Mona's grandmother gave her and her brother Kareem
money for their birthdays.She gave each child 125 LE.
How much money did Mona's grandmother give in all?

..............................................................................................................................
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-@hoose the comect answer ® s T T toalaill

@ The value of the digit 6 in the number 613 is ------
(600 or 60 or 0)

@ gtens = (900 or 90 or g,

{8 The even number just after 12 is - (14 or 8 or 1

@ The odd number between 7 and 11is - ( 8 or 9 or g,

. 800 80 tens (< or = or >)
N

(88888 Complete the following )

. The number 297 = v ones, 9 tens s ... hundreds.

@ 125+ = 243 +125

. The greatest 3-digit number is -....covvr---
.LE10 +|LE10(+ [LE10| + |LE10|+ |LE10| = |[LE

@ 100200 1300 5 e Ro— (in the same pattern)
(F5ir) Answer the following |
@ Find the result of each of the following :

(1) 144 + 456 = - (2) 829 — 119 = -ooovvveveee

@ Arrange the following numbers in an ascending order :
105 » 530 » 312 and 560

THhe Orderis : .oeeeve 3 cermvervenverse 3 vevverereeces @AM oveeeieeens

@ Shimaa bought some toys for L.E. 224 and a mobile for L.E. 63

How much money did Shimaa pay ?
Shimaa paid = = L ST =LE. o
- annel ith
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g 1 FRACTION AS A PART dr'WHoLc@ﬁgwf

The Numerator
The number of parts

. T —
you have. The Denominator
The number of parts |
ina whole.
All Parts

Fraction bar

—

Circle the shapes that are divided into equal parts

PN

erie the fraction that represents the shaded part

APH® D
_.@ o B A
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| “onewonx I

+ Clrcle the shapes that are divided Into equal par v e ot

1
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e resents ts the shddjﬁhd )

r Write the fraction that rep
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Choose the comrect answer)
925 = e + 25
.The number just before 505is ...
. 5 hundreds -+ 4 tens =

( 3 or 30 or300)
( 404 or 506 or 504)

( 504 or 540 or 450)
.The fraction of /] \ = : ( 1 or 1 ar

:
3 4 2)

il
‘Complete the following
@ 138+ 25 =25+ e

. The value of the digit 5 in the number 753 is -..............
() The greatest number formed from the digits 2 » 5 and 7 is -....-

@ The fraction of m = —
—ﬁn swer the following )
@ Find the result

(1) 452 + 375 = o (2) 850 — 619 = v

® Ahmed has 537 pounds s his father gave him 350 pounds.
How much money does he have ?

Ahmed has R T T PYTIIUPEY S PPRRR = paiiieesrieuee pounds.

@ Arrange in an ascending order :
532 » 253,99 » 523 and 235

The order is : :«eeereseeerns g sosssrensenerre g reesressieinee g seeressssssiens ang e

~———Seoond Part = _
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o j
" B HALF , THRD AN

Cessod

e
Fraction in _1_3
: 1 |l 4 _4\1
pictures and 7 5 e
numbers 4|4
Number of 2 Parts 3 Parts 4 Parts
equal parts |
Fraction in half Third , F:ur:h
words halves quarter)

Name the fraction of the shaded part :

------

......

:‘f;“ Reannd HoantN A

1% _— Bk 2=
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2 £ ﬂm\
7 shade according to the fructlon,Complrﬂ;ﬂJﬁmez;; H s
& Ce®  ciorlzill
Fraction Fraction in words "‘:ﬁgl‘;: In
— e ————
r a half —
a third -—
Two thirds —
a fourth —
Three fourths —

...........................................

B T T T TR T L T LT

E
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Name the fraction 0

C ' --ll|ll.lliIQ'IIl'lll‘l'l!l'.-l.l"i'...l".
e,

b
(€

—

-1

......................
................................

oK | ———
| HOMEWORK | —=—=

. Bl
f the shaded part : s

—————

|

——

e
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shade according to the fraction ,
"~ complete the table :

|
\

Fraction Fraction in words ’“:f'-‘gﬁ
a half —

Two halves —-_—ﬁ

a third = )
L Two thirds —
Three thirds —
a fourth —
gjr Two fourths —
ﬁ Three fourths —
) four fourths —

e S0 00 FPart
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(3 Shade one plece of each circle then write the-fractiop, ,

@ — C) —

(6)write the fraction

Q
s
©
CY

............................................................................................................................
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ﬂ:hoose the comect answer)
[ The value of the digit 3 in the number 235 = --
(300 or 30 or 3 )

@ 700 < e (600 or 800 or 700 )
PO00+70+ 4= e (974 or 947 or 749)
@ Sixhundred and twenty-one = - (512 or 216 0r 621)

A
- Complete the following )

. The number six hundred and six in digits is -
[ The greatest 3-digit number is .............

(@ The smallest number formed from the digits 8 » 2 and 4 is ...
[@ 800700 5600 5 cc. 3 -oeeee

-Answer the following

@ Find the result
® 348 ® 569 ® 649 ® 482
+114 -215 +130 -265
i write the fraction
0 @ ®

®
©
He

. - 113—
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) FRACTION AS A PART OF SE?“‘”""" |

N

A set is a group of pupils |
There are 6 pupils (‘s %
w 4 of the pupils are boys ﬁ
(A
2 or 2 ofthe setare boys.| [ ?
6 3 Jﬁb I
w 2 of the pupils are girls @) Q
% or -%— of the set are girls. & "J
(1 Complete
The fraction of the red apples = -

The fraction of the apples have leaves = -

(2] Complete
The fraction of the red flowers =

The fraction of the blue flowers = - i

The fraction of the yellow flowers =

l-d
The fraction of the green apples = -~ t
@
&
@

(3) Complete

d| The fraction of the red books = ..

b| The fraction of the green books = - - .

€] The fraction of the red - -
and green books = J
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ﬁ« circle according to the fraction:

@9 pppp 0O
TITNIIITRY

| : Q@
% | aaa
e | 244

e

Marwa baked an apple pie and cut it into four equal pieces ,
She gave one piece to her brother and one to her sister.

What fraction of the pie did Marwa's
brothereat ?..............

sistereat 2 ....covunenen.

B) What fraction of the pie did Marwa's K

. What fraction of the pie did remain ?

et P = e—
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— (e \‘4‘*‘ . : [
! | HOMEWORK | =57

1 Complete the fol'lowing

[@ (1) The fraction of the red apples = -

(3) The fraction of the apples have leaves = -

[E@ﬂwefracﬁonofmeredapmesz .................

O
A

(3) The fraction of the apples have leaves = -

[€ () The fraction of the red flowers = -~

(2) The fraction of the blue flowers = -~

(3) The fraction of the yellow flowers = -~

E(D The fraction of the red flowers =~

(2) The fraction of the blue flowers = =

‘.JH‘..}} ek d/ I

PN
oo voe

(8) The fraction of the yellow flowers = -

[€ () The fraction of the red flowers =~

() The fraction of the blue flowers = -

e
oe

.ﬁ

& &
(3 The fraction of the yellow flowers = -

(3 The fraction of the blue and yellow flowers =
(5) The fraction of the red and yellow flowers =

116 /———
J
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(%) The fraction of the green books = -

(5 The fraction of the red
and green books =........

—
—

S

(2) The fraction of the green books = -

® The fraction of the red ---
and green books = ... - - -
[ © The fraction of the red pens = .-

(2) The fraction of the green pens = -
(3 The fraction of the red
and green pens =........

(9 The fraction of the blue pens = ...

® The fraction of the blue
and green pens =-.......

[ @ The fraction of the red pens = -

2) The fraction of the greenpens = -
(® The fraction of the blue pens = -

PDF|

m’@"fhe fraction of the red books = ...
(@ The fraction of the green books = -

(3 The fraction of the red
and green books =..........

&’@%e fraction of the red books = ----
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2 Circle according to the fraction : = == ° tanulzill

900 seal
¥ 002200

1

—

4

56

[«

2

—_—

3

2

TEE:
- -5 4T
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3 Marwa baked an apple pie and cut it into four%cbgzg; =
||- ‘
She gave one piece to her brother and one to here sister.

what fraction of the pie did Marwa's
brother eat ? ..............
what fraction of the pie did Marwa's k-j

sistereat ? ..............

What fraction of the pie did remain ? ....

pm—

@ Rena had 4 cookies in her lunch. She gave her friend Aya
2 of them.

What fraction of the cookies did Rena share ?

--------------

Omar went out for pizza. His pizza had 3 slices and he ate
2 of them.

What fraction of the pizaisleft 2 ..............

@ Karim had a sandwich. He cut it into two pieces and ate one.
What fraction of the sandwich did he eat? ..............

Farah and Sherif picked flowers. They had four flowers.
Farah took 3 of the flowers and gave oneto Sherif.
What fraction of the flowers did Farah take ?

--------------

Sara baked a pie and cut it into four pieces. Her family ate
3 of the pieces.

What fraction of the pie is left over ?

@ Dina had three cookies in her lunch. If she ate all three
of them,

what fraction of the cookies did she eat ?

m \ ed Wil l I
——— Soooed Purt — 19—
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-Choose the comrect answer )
(@) The greatest number formed from 7 s 1 and 9 is - -
(971 or 917 or 179)

@ The number ...... is between 409 and 411 (410 or 408 or 413)
(@ The number just after 299 is ... (300 or 400 or 20

@ 210,220,230 ......... (in same pattern) (231 or 240 or 250)

(§8658] Complefe the following )

@ The place value of the digit 3 in the number 327 is ...
. 5430+ 600 = e

@ 123+ = 3264123
@ The greatest 3-digit number is ...

- Answer the following |
@ Find the result of

(1) 949 — 897 = «rrvvsveere ® 2
1

@ 193 4+ 111 = evvereene

..................................

® salwa bought a dress for 275 pounds and a pair of shoes for
125 pounds. How much money did Salwa pay ?

® Joln:
3 1 1 2 1
4 4 3 3 2
R Burk 2 ——
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Bar graph & Bictograph
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THE BAR GRA

1 Look at the favorite fruit graph and then answer -

A Favorite Fruit

80-

70
60-

50 -

40 -

30+

20+

Number of Studenls

® ©

Apples Oranges

la Complete the following tabe :

’
</

Bananas

Favaorite Fruil

Number of Students

Apples ‘

Oranges @

Bananas Tb,_.‘l‘

-

A\

Pears E 2

Answer the following questions :

1) How many people like oranges ? -

2) How many people like apples and bananas ? ...........

3) How many people like bananas and pears 7 «wseeesssessesisesssissins

4) How many people were asked about their favorite fruit ? =«

5) What is the least popular fruit on this graph 7. g TR

PDF]

—{122/
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7 Look at the pictograph and then answer :

Favorite Pizza Toppings

DI PDD
;A))))

Y
] | B

a Complete the following tabe : A e

Green
Peppers

Olives

Green

Favorite Pizza Toppings Peppers | Cheese | Olives | Mushrooms

Number of people

Answer the following questions :

1) How many people liked cheese and green peppers?

e — )
2) How many fewer people liked mushrooms than olives?
(1o )
3) How many people liked cheese, green peppers, and olives?
———— )
4) How many more people liked cheese than green peppers?
 (S———— )
5) What is the most kind pizza topping on this graph? )

e Se000d Part  — @——
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Look at the animals on a farm pictogra

Animals on a Farm
Key = Each animal picture represents S animals

Cows “

Goats ]T 3‘5

-z

o

Wl

Chickens ‘!

)

¥ | ¥

Sheep m

=sll A=Wk {

W

v

Complete the following table :

TYPES OF
ANIMALS

Cows

Goats

Chickens

NUMBER OF
ANIMALS

Complete the bar graph :

=4

35

30
25
20
15
10
5 .

0

NUMBER OF ANIMALS

Animals on a Farm

Cows

Goats

Chickens Sheep
Answer the following quastions :

TYPES OF ANIMALS

1) How many cows are there on the farm 7 ....................

2) How many goats and chickens on the farm 7 ....................

3) What is the most type of animals on the farm? ....................

4) What is the least type of animals on the-farm?, ....... iy

124
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qook at the Pick a Flower pictograph and then aﬁsm e e oo r e .
Saturday * *
Sunday * * * * * k:rs _

Monday | i€ Wit vi¢ w¢ ¢ W - 10 0w
Tuesday * * * * -

| Complete the following table :

r The day Saturday Sunday Monday Tuesday
Eumber of flowers

Complete the bar graph :

60 -

50 4

40 -

30 -

20 4

Number of flowers

10 4

0 The day
Saturday Sunday Monday Tuesday

€| Answer the following questions :

1) How many flowers were picked on Tuesday 7 ...

2) How many more flowers were picked on Sunday than Saturday?

---------------------------------------------------

e Se000d Part E;Ei . @—_
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1 Look at the favorite fruit graph and then answer : -

A
10+

) -
5] )( )4 L 1]
® ss

Favorite Frult

9 -+

8-

7 -

6 -

54

4

ad

Number of Studenta

2-

1-

Ff 2 v v & L.

Apples Oranges Bananas Strawbermes Kiwis Pears

(@ Complete the following table :

Favorite 6 g

Fruit Apples | Oranges

S (e @ |2

Bananas | Strawberries Kiwis Pears

Number of
Students

(B) Use the bar graph : complete usin <, =or >:

1) Number of students liked Apples
2) Number of students liked Oranges
3) Number of students liked Pears

Answer the questions:

1) How many students liked oranges ?

Number of students liked Kiwis

Number of students liked Bananas

Number of students liked Strawberry

2) How many more students liked strawberries than pears ? .............

3) How many students all togethr liked kiwis , apples and oranges ?

4) Which fruit is liked the most ?

5) Which fruit is liked the least ? ...........oooo....

-
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ﬁ Look at the Favorite Colors graph and then alﬁ(ﬂ , E: g
questions about the data. . e o oo s

[ J— Favorite Colors of 200 Students Col Number of
, CHOTS shudents
z RED
[a]
g BLUE
-~ GREEN
g’ YELLOW
‘ ORANGE
RED BLUE GREEN YELLOW ORMNGE PINK PINK
COLORS
@ Use the bar graph : complete usin <, =or >:
1) Number of students liked RED Number of students liked GREEN
2) Number of students liked BLUE Number of students liked YELLOW
3) Number of students liked GREEN Number of students liked ORANGE
4) Number of students liked YELLOW Number of students liked PINK
5) Number of students liked ORANGE Number of students liked BLUE
6) Number of students liked PINK Number of students liked RED

—@ Answer the questions:
1) How many people liked red best? ..................

2) How many people liked blue best?..................

3) How many people liked green best? ..................

4) How many people liked yellow best?_.................

§) How many people liked orange best?..................

6) How many people liked pink best? ..................

7) How many people liked pink and blue (pink + blue)?.................

8) How many more people liked yellow than green (yellow - green)?....ceeweeess
9) How many people liked red and blue (red + blue)? .........c.......

10) How many more people liked blue than orange (blue - ora_nge)? eesamsevateses

PDE}
Seoond Part —
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3_ Look at the Pick a Flower pictograph and then answe :

Saturday

Sunday

Monday

Tuesday

e e
e

Wednesday

Thursday

(@) Complete the following table :

The day Saturday | Sunday |Monday | Tuesday Wednesd_ay Thursday

Number of flowers

@ Use the bar graph : complete usin <,=or >:

1) Number of flowers on Sunday Number of flowers on Thursday
2) Number of flowers on Saturday Number of flowers on Sunday

3) Number of flowers on Wednesday Number of flowers on Monday

4) Number of flowers on Monday Number of flowers on Wednesday
5) Number of flowers on Tuesday Number of flowers on Saturday
6) Number of flowers on Thursday "~ |Number of flowers on Saturday

Answer the questions:

1) How many flowers were picked on Monday ? ..............

2) How many flowers were picked on Tuesday 7 ..............

3) How many more flowers were picked on Saturday than Sunday 7 .............
4) How many more flowers were picked on Monday than Tuesday? .............
5) How many flowers were picked on Wednesday and Monday ? .............
6)How many flowers were picked on Thursday and Sunday ? .............

7) Which day had the most number of flowers picked ? .............ccccoeeeeeer

8) Which day had the least number of flowers picked ? ...............ccereeeees

Em
128 e Bhtk 2 =
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[TF Look at the pictograph and then answe : I ’E h LS

o [oooeed |
Tamer |5 b &b @ .

I 'y

o | BDDDDB B D | & -

adam @ @ G ,.: 1 cookie
sandy |&5EH & ED SHE
Jna |BDSHHSS
Complete the following table :
Name Sara [Tamer| Nader| Adam| Sandy| Jana
Number of
Cookies
Use the bar graph : complete usin <,=or >:
1) Number of cookies Sara ate Number of cookies Tamer ate
2) Number of cookies Nader ate Number of cookies Adam ate
3) Number of cookies Sandy ate Number of cookies Jana ate
4) Number of cookies Tamer ate Number of cookies Sandy ate
5) Number of cookies Adam ate Number of cookies Sara ate
6) Number of cookies Sandy ate Number of cookies Sara ate

Answer the following questions :
1) How many cookies did Tamer eat 7 ..............
2) How many cookies did Jana eat ? ..............
3) How many more cookies did Sara eat than Adam 7 .............
4) How many more cookies did Sandy eat thanJana ? .............
5) How many cookies did Sara , Nader and Adam eat ? .............
8) How many cookies did Tamer and Sandy eat ? .............
7) Who did eat the most number of COoKIes ? ...........ccccweseness

8) Who did eat the least number of COOKIeS 7 ..........eeueacurerssees

Seoond Part
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5 Use the following table to complete theshamdesmph i~ |
® oo 8 O F [-55[[
T Booke read last summer Sishs road et :’ -
10 re { 34 ) !"'0“_—
'E Memes :fmb,:b"“
ot Alaa 8
e 7~ ——
g e Adam 6
s i Sara 4
5 4
£ 3- Sandy 7
=z -
f_ Youssef 2
. Alan Adam Sara Sandy Yomse!l Lara » Lara 4
Hames

@Usa the graph to order the names who read the books from
the least to the greatest :

S5 JEENSIIEERIINENESE JEAIINIRNNENAIRTES JHSANSASRAASEENAsS PEETEEEREEEERReRAS eSS IEEIIERsanas

b|Use the bar graph : complete usin <,=or >:

1) Number of books that Alaa read Number of books that Sandy read

2) Number of books that Sara read Number of books that Lara read
3) Number of books that Sandy read Number of books that Sara read

4) Number of books that Yossef read Number of books that Sandy read
5) Number of books that Lara read Number of books that Alaa read

(€) Answer the questions:
1) How many books did Sararead 7 ..............
2) How many books did Alaaread 7 ..............

3) How many more books did Alaa read than Lara ? .............
4) How many more books did Sara read than Yossef 7 .............
5) How many books all togethr did Sandy , Youssef and Adamread ? .............

6) How many books all togethr did Lara, Alaa and Sara read ?
7) Who read the greatest number of books ? ...........cceceveennnaens

8) Who read the least number of books ? ..........ccc.uu..e. e

Scanned with CamScanner




L A
— -

@ Convert the same data from pictograph 01w UL
a bar graph then complet the ta ° °° faoalaill

Dog *f YVOoVVP©V®
sh_Sbo |9 PP Q "
ot h (POPPPPPP|| P
Bird ’ '..'. ' 1 student
Turﬂe. "‘

A
ﬁ Dog kind of | Number of
pet students
i &Bo Fih Dog
g L Cat Fish
x Cat
I
Bird
‘Turtle Turtle
| NN B A e Gam S Gu s S g S R g s e
012345678910 NMR1BUEB
Number of students
Use the bar graph : complete usin <,=or >:
1) Number of Students liked Dog Number of students liked Bird
2) Number of Students liked Fish Number of students liked Turtle
3) Number of Students liked Cat Number of students liked Dog
4) Number of Students liked Bird Number of students liked Fish

@ Answer the questions:
1) How many students liked Fish 7 ..............
2) How many students liked Bird 7..............
3) How many more students liked Cat than Bird 7 .............
4) How many more students liked Bird than Turtle 7 ..............

5) How many students all togethr liked Dog , Fish and Cat 7.............
6) How many students all togethr liked Cat , Bird and Turtle 7 .............

7) Which pets Is liked the most ? ........cccoeeuvuervuenenns
8) Which pets is liked the least ? ............ccc.... e Scann |
Seoond Part e —\1 31 I
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" @ | ROUNDING TO THE NEA

LessoN

The Rounding means to replace the number by

another number very near to it

Rounding Rules
6 Find the place of the tens digit and circle it

é Replace the ones digit by 0.
f§ Look to the ones digit.
~

If the ones digit If the ones digit
0,1,2,30r4 5,6,7,80r9
the tens digit add 1 to
stay the same the tens digit

\ v

20 80 .

S Pt — 8T —
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